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Section A : Attempt all questions from this section.

Q.1)
(@Dw aG.P, 3"term is 24 and 6" term is 192. Find the 10" term. (3)
~Na _ ¢ a+b _Va?4 p?
—— — | P — -

@)} b d' BRI c+d Vet 2 (3)
¢) Show that (x — 1) is a factor of x¥ — 7x? + 14x — 8. Hence, completely factorise
the above expression. (4)
Q.2) : :
a) Find the values of x, which satisfies the following inequation. (3)

1 2 )
~2<-—-=<12,x€N.
7x S 6
Graph the solution set on the number line. (3)

b) Cards are marked with the numbers 2 to 101 are placed in a box and mixed thoroughly.
“ One card is drawn from this box. Find the Probability that the number on the card is :

i) @a number less than 14.

i) @a multiple of 5 and 6.

iii) @ number which is a perfect square. (4)

/c.)vA wholesaler buys a TV from a manufacturer for Rs.40,000. He marks the price of the
TV 20 % above the cost price and sells to a Retailer at a discount of 10 % on the marked
price. If the rate of GST is 28 %,
find : i) the marked price
il) retailers cost inclusive of tax.

i) GST paid by wholesaler.

) ) : (3)
0§‘= meer deposited Rs.1500 per month in a recurring deposit scheme for 9 months If he
gets Rs.675 as interest at the time of maturity , find the rate of interest. Also find the

maturity value of the deposits. e
| /ﬁm the matrix X such that —4 + 3B + X = 0, where A= ‘52 g], B=[__12 g] () 4
b ‘ 1" ' : o \ ’ N u.‘)
R 1 T . WOREY O

Scanned by CamScanner



Scanned by CamScanner




8) a)The monthly income of a group of 320 employees in a company is given below (6)

Monthly Income in Rs. | Number of Employees
6000-7000 20
7000-8000 | 45
8000-9000 | 65
9000-10000 95

10000-11000 60 |
11000-12000 30
12000-13000 5

Draw an ogive for the given distribution”on a graph sheet taking 1 cm = 1000 on the x-
axis and 1 cm=50 employees on the other axis. From the graph determine :

i) The median wage .

i) The number of employees whose income is below Rs.8500.

i) If the salary of senior employees is above Rs. 11500. Find the number of
senior employees in the company.

iv)  The upper quartile. (4)

b) A train travels a distance of 300 km at a constant speed of the train is increased by 5
km an hour , the journey would have taken 2 hours less. Find the original speed of the
train.

Q.7) a)Solve the following equation and give your answer correct to two significant

figures. . 3)
(x—4)2—5x—3=0
b) For the following frequency distribution, draw a Histogram (3)

and estimate the mode.

Class 0-5 5-10 10-15 15-20 20-25 25-30
Frequency 2 7 18 10 8 5

¢) A man invested 90000 in 15 % Rs.100 shares quoted atmﬁ%.v&mihemhat
$ value of these shares rose to Rs.140, he sold some shares just enough to r:
Rs.16800.

Calculate : i) the number of shares he still holds
ii) the dividend due to him on these share:
_Q8)

a) A factory produces 1200 units in the third year
Assuming that the production increases uniformly b:
producuon in i) the first year

o AT

i) 8 years.

b) Solve the following inequation and repr

2 1 1
—_ =< - =
23__x+3 <33.x € R.
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